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Problem 1: b) Write the following equations as a quasi-linear system
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Problem 2: 1.) Consider the second order PDE
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Write this equation as a first order system of PDEs. Do not solve it.
2.) Solve the Cauchy problem
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Problem 3: Solve the Cauchy problem
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Problem 4: Covert the folloving problem into solving a Laplace problem
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Problem 5: Let Q an open bounded domain of R?, with smooth boundary

0.
1. Co'nbsider the Dirichlet problems
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Give a function r = r(z, y, z) such that v = r < u satisfies the problem
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where ¢ is continuous.

2.) Based on the potential thecry, we can construct a solution v € C*(Q) N
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a.) Explain how the expression of G is obtained?
(lo ) b.) Explain how h has to be chosen.
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